Multiplying a 3-digit number by a 1-digit number @ 0 Complete questions 1 fo 6

Use a vertical method to answer these calculations. -

305 x 2 =[] 165 x 5=0J Try as many ques‘rlons.as you
can using either the grid or
3 xXx214=0 . 8 x276=01] st column method

126 X 4 =[] . 224 x 6=0
8 x 115=0 . 7T x315=0
261 x 3=0 - 164 x 6 =01

Multiplying a 3-digit number by a 1-digit number @

325 x 2= 650 7. 165 x 5=825
3 X 214 = 642 8 8 x 276 = 2208
126 x 4 =504 9 224 x 6=1344
- 4 x170=011 .9 X 245=[]

8 x 115 =920 10. 7 x 315 =2205

0
5 261 x 3=783 11. 164 x 6 =984
2

4 X 170 =680 12. 9 x 245 = 2205

13 Use four different digits to make a 3-digit x 1-digit
multiplication. What is the biggest/smallest possible answer?

13. Biggest possible answer: 876 x 9 = 7884
Smallest possible answer; 234 X 1=234
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Start on question 7 and complete the 350 60 60 320
rest. Use the ladder method. Then + 40 + 2 | + | 8 + 28
complete question 13.
| 390 q8 | 2 48 1148

Then look at the these sums. Can you work
out what each number is.




